Practical no:-
AIM:- Write a program to implement Stack.

#include<stdio.h>
#include<conio.h>                            //for clrscr
#include<stdlib.h>                           //for exit
[bookmark: _GoBack]void push(int[],int );                       
void pop(int[],int );                        
void display(int[],int );                 

void main()
{
    clrscr();
    int stack[10],n,flag=0,top=-1;
    int ch=1;
    printf("Enter the size of stack");
    scanf("%d",&n);

do
{
   printf("\nEnter the choice\n1.Push operation\n2.Pop operation");
   scanf("%d",&flag);
switch(flag)
{
case 1:
     do
     {
        if(top==(n-1))
	printf("The stack is Full.\tInsertion operation isn't performed\t
i.e overflow condition");
       else
{
	 push(stack,top);                            //Calling of Push function
	 top=top+1;
	 printf("\nStack now is:");

	 display(stack,top);
      

      printf("\nYou want to enter the next element also\t Input any no for Yes & zero  for No");
      scanf("%d",&ch);
      }
       } while(ch);
      break;

case 2:do
     {
      if(top==-1)
	printf("\nThe stack is empty.\ti.e.underflow condition");
      else
	 pop(stack,top);                        //Calling of Pop function
	 top=top-1;
             printf("\nStack now is:");
	 display(stack,top);
            printf("\nYou want to delete the next element also\t Input any no for Yes &       zero for No");
       scanf("%d",&ch);
        }while(ch);
       break;
                  }
  } while(flag);

  getch();
}

//function definition of push function
void push(int STACK[10],int TOP)
{ int item;

  printf("\nEnter the item to be inserted in a stack");
  scanf("%d",&item);
  TOP=TOP+1;
  STACK[TOP]=item;
}



//function definition of pop function
void pop(int STACK[10],int TOP)
{
 int item;
 item=STACK[TOP];
 TOP=TOP-1;
 }

//function definition of display function
void display(int STACK[10],int TOP)
{int i;
 if(TOP==-1)
     exit(0);
else
{
for(i=TOP;i>=0;i--)
printf("\n%d",STACK[i]);
getch();
 }
}







